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SUB- INSPECTOR OF FISHERIES IN FISHERIES DEPARTMENT IN TAMIL NADU 
FISHERIES SUBORDINATE SERVICE – 07/02/2023 

 
1. Chlorophyll present in the leaf is required for 

a. Photosynthesis   b. Tropic movement  c. Transpiration 
d. Nastic movement   e. Answer not known 
,iyapy; fhzg;gLk; gr;irak; _____ f;Fj; Njitg;gLfpd;wJ. 
a. xspr;Nrh;f;if   b. rhh;girT   c. ePuhtpg;Nghf;F 
d. jpir rhuh J}z;ly; mirT e. tpil njhpatpy;iy 
 

2. Assertion [A]: Haemoglobin contains Iron. 
Reason [R]:  Iron deficiency leads to Anaemia. 
a. Both [A] and [R] are true, and [R] is the correct explanation of [A]. 
b. Both [A] and [R] are true, but [R] is not the correct explanation of [A]. 
c. [A] is true, but [R] is false 
d. [A] and [R] is false 
e. Answer not known 
$w;W (A): `PNkhFNshgpdpy; ,Uk;Gr; rj;J cs;sJ. 
fhuzk; (R): ,Uk;Gr;rj;J FiwghL ,uj;jNrhif Nehia Vw;gLj;JfpwJ. 
a. [A] kw;Wk; [R] ,uz;Lk; rhp; [R] vd;gJ [A]tpw;F rhpahd tpsf;fk; MFk;. 
b. [A] kw;Wk; [R] ,uz;Lk; rhp; Mdhy; [R]-tpw;F rhpahd tpsf;fk; my;y 
c. [A] rhp; Mdhy; [R] jtW 
d. $w;W [A] kw;Wk; fhuzk; [R] ,uz;Lk; jtW 
e. tpil njhpatpy;iy 

 
3. The state is which there is an accumulation of excess body fat with an abnormal 

increase in body weight is called 
a. Diabetes   b. Polyuria   c. Obesity 
d. Polydipsia   e. Answer not known 
clypy; mjpfg;gbahd nfhOg;G Nrh;tjhy; clypd; vil mrhjhuzkhf mjpfhpf;Fk;. 
,jid ______ vd;ghh;fs;. 
a. ePhpopT   b. ghypA+hpah   c. cly; gUkd; 
d. ghypbg;rpah  e. tpil njhpatpy;iy 
 

4. The atmospheric carbon di oxide enters into the plants and fixed through the process 
called 
a. Photosynthesis  b. Transpiration  c. Respiration 
d. Decomposition  e. Answer not known 
tspkz;ly fhh;gd; il Mf;irL jhtuq;fSf;Fs; nrd;W epiyg;gLj;jg;gLk; epfo;T 
_____ vd miof;fg;gLfpd;wJ. 
a. xspr;Nrh;f;if  b. ePuhtpahjy;  c. Rthrpj;jy; 
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d. rpijj;jy;   e. tpil njhpatpy;iy 
 

5. Choose the right matches among the following: 
A. Phenolphthalein in acidic medium - Colourless 
B. Phenolphthalein in basic medium - Yellow 
C. Methyl orange in acidic medium - Pink/Red 
D. Methyl orange in basic medium - Colourless 
a. A and C are correct    b. (A) and (B) are correct  
c. B and C are correct    d. C and D are correct 
e. Answer not known 
fPo;fz;ltw;Ws; rhpahd xg;gpLjiy Njh;e;njLf;fTk; : 
A. mkpy Clfj;jpy; gpdhg;jyPd;  - epwkw;wJ 
B. fhu Clfj;jpy; gpdhg;jyPd;  - kQ;rs; 
C. mkpy Clfj;jpy; nkj;jpy; MuQ;R - ,sQ;rptg;G/rptg;G  
D. fhu Clfj;jpy; nkj;jpy; MuQ;R - epwkw;wJ 
a. (a) kw;Wk; (c) rhpahdit    b. (a) kw;Wk; (b) rhpahdit 
c. (b) kw;Wk; (c) rhpahdit    d. (c) kw;Wk; (d) rhpahdit 
e. tpil njhpatpy;iy 
 

6. The measurement which is used to measure the ignition delay of the fuel in diesel 
engine is  
a. Cetane number   b. Octane number  c. Calorific value 
d. Specific energy   e. Answer not known 
Bry; vQ;rpdpy; cs;s vhpnghUspd; gw;witg;G jhkjf; fhy msit msg;gjw;F cjTk; 
msT 
a. rPl;Nld; vz;   b. Mf;Nld; vz;  c. fNyhhp kjpg;G 
d. jd; Mw;wy;   e. tpil njhpatpy;iy 
 

7. The atomic mass of the middle element is nearly the same as average of atomic masses 
of other two elements. 
a. Modern periodic law    b. Newland’s law of octaves 
c. Dobereiner’s law of triads   d. Mendeleev’s law of periodicity 
e. Answer not known 
kj;jpapy; cs;s jdpkj;jpd; mZ epiwahdJ Vwf;Fiwa kw;w ,U jdpkq;fspd; 
mZrpiwapd; ruhrhpf;Fr; rkkhFk;. 
a. etPd Mth;j;jd tpjp    b. epA+yhe;jpd; vz;k tpjp 

c. lhgh;dPhpd; Kk;ik tpjp    d. nkz;l;yPtpd; Mth;j;jd tpjp 
e. tpil njhpatpy;iy 
 

8. Match correctly the physical quantities with their SI units. 
A. Pressure   1. Nm-1 
B. Area   2. Nm-2 
C. Surface Tension  3. N 
D. Force   4. m2 

 A B C D 
a. 1 3 2 4 
b. 3 1 4 2 
c. 2 4 1 3 
d. 4 2 3 1 
e. Answer not known 
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,aw;gpay; msTfis mjd; SI myFfSld; rhpahfg; nghUj;Jf: 
A. mOj;jk;   1. Nm-1 

B. gug;G   2. Nm-2 
C. gug;G ,Otpir  3. N 
D. tpir   4. m2  

A B C D 
a. 1 3 2 4 
b. 3 1 4 2 
c. 2 4 1 3 
d. 4 2 3 1 
e. tpil njhpatpy;iy 
 

9. Group of Stars is called  
a. Solar system   b. Constellation  c. Planets 
d. All the above   e. Answer not known 
tpz;kPd;fspd; FOf;fs; _____ vd;W miof;fg;gLfpd;wd. 
a. #hpa kz;lyk;   b. el;rj;jpuf; $l;lq;fs; c. Nfhs;fs; 
d. ,it midj;Jk;   e. tpil njhpatpy;iy 
 

10. At higher altitude, the boiling point of a substance will 
a. decrease    b. increase  c. decrease and then increase 
d. increase and then decrease e. Answer not known 
caukhd ,lq;fspy;> nghUspd; nfhjpepiy 
a. FiwAk;    b. mjpfhpf;Fk; c. Fiwe;J> gpd; mjpfhpf;Fk; 

d. mjpfhpj;J> gpd; FiwAk; e. tpil njhpatpy;iy 
 

11. Which of the following statements are true about Himalayas? 
(i) The Greater Himalayas are also called Himadri. 
(ii) The Greater Himalayas receive more rainfall compared to the lesser Himalayas 

and the Siwalik. 
(iii) Major hill stations are located in the Himachal Range. 
a. (i) only    b. (i) and (iii) only  c. (i) and (ii) only 
d. (ii) and (iii) only   e. Answer not known 
,kakiy gw;wpf; $wg;gLk; gpd;tUk; thf;fpaq;fspy; vJ rhpahdJ? 
(i) nghpa ,kakiy ,khj;hp vd;W miof;fg;gLk;. 
(ii) rpwpa ,kakiy kw;Wk; rpthypf; Fd;Wfis xg;gpLk; NghJ ,g;gFjp mjpf 

kioiag; ngWfpd;wJ. 
(iii) Gfo; ngw;w Nfhil thoplq;fs; ,kakiyj; njhlhpy; mike;Js;sd. 
a. (i) kl;Lk;   b. (i) kw;Wk; (iii) kl;Lk;  c. (i) kw;Wk; (ii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk; e. tpil njhpatpy;iy 
 

12. Which is longest dam in the World? 
a. Nagarjuna Sagar Dam     b. Hirakud Dam 

c. Bhakra-Nangal Dam     d. Damodar Valley Dam 
e. Answer not known 
cyfpd; kpf ePskhd miz vJ? 
a. ehfhh;[_d; rhfh; miz    b. `puhFl; miz 
c. gf;uh-eq;fy; miz    d. jhNkhjh; gs;sj;jhf;F miz 

e. tpil njhpatpy;iy 
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13. Tidal forests are also known as 
a. Monsoon forests   b. Alpine forest  c. Mangrove forests 

d. Rainy forests   e. Answer not known 
Xjf;fhLfs; _____ vd;Wk; miof;fg;gLfpd;wd. 
a. gUtfhyf; fhLfs;  b. my;igd; fhLfs;  c. miyahj;jpf; fhLfs; 
d. kiof; fhLfs;   e. tpil njhpatpy;iy 
 

14. The headquarter of East – Central Railway is located in  
a. Jabalpur    b. Hazipur   c. Jaipur 
d. Bilaspur    e. Answer not known 
fpof;F kj;jpa ,uapy;Ntapd; jiyikaplk; vq;F mike;Js;sJ? 
a. [gy;G+h;    b. `hrpg;G+h;   c. n[a;g;G+h; 
d. gpyh];G+h;    e. tpil njhpatpy;iy 
 

15. The celebration of world population day July 11th is started from the year. 
a. 1986 b. 1987 c. 1988  d. 1989 e. Answer not known 
cyf kf;fs;njhif jpdk; [_iy 11Mk; ehs; vd;gJ ve;j Mz;L Kjy; 
nfhz;lhlg;gl;L tUfpwJ? 
a. 1986 b. 1987 c. 1988  d. 1989 e. tpil njhpatpy;iy 

 
16. Which of the following force is not in service for the management of disasters in the 

district organisation? 
a. Postal Department    b. Revenue Department   
c. Civil Administration    d. Local Police 
e. Answer not known 
gpd;tUtdtw;Ws; vj;Jiw Nghplh; Nkyhz;ik Mizaj;Jld; nray;gLfpd;w khtl;l 
mikg;G my;y? 
a. mQ;ry; Jiw  b. tUtha;j; Jiw  c. Fbikg;gzp eph;thfk; 
d. cs;@h; fhty;Jiw e. tpil njhpatpy;iy 
 

17. Which Article of Indian Constitution provides for an Election Commission? 
a. Article 280   b. Article 302   c. Article 316 
d. Article 324   e. Answer not known 
,e;jpa Njh;jy; Mizak; mikf;f top tif nra;Ak; murpay; mikg;Gg; gphpT vJ? 
a. murpay; mikg;Gg; gphpT 280   b. murpay; mikg;Gg; gphpT 302 
c. murpay; mikg;Gg; gphpT 316   d. murpay; mikg;Gg; gphpT 324 

e. tpil njhpatpy;iy 
 

18. The articles that are related to citizenship are 
a. Article 5 to 11  b. Article 14 to 18  c. Article 19 to 22 
d. Article 25 to 28  e. Answer not known 
FbAhpikg; gw;wp njhlh;Gs;s rl;lg;gphpTfshtd 
a. rl;lg;gphpT 5-11  b. rl;lg;gphpT 14-18  c. rl;lg;gphpT 19-22 
d. rl;lg;gphpT 25-28  e. tpil njhpatpy;iy 
 

19. Choose the correct answer. 
Elementary education is a fundamental right under Article 
a. Article 51 A  b. Article 21   c. Article 29 
d. Article 21A  e. Answer not known 
rhpahd tpiliaj; Njh;T nra;f. 
njhlf;ff;fy;tp fw;wiy mbg;gil chpikahfr; Nrh;f;fg;gl;Ls;s rl;lg;gphpT vJ? 
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a. rl;lg;gphpT 51A   b. rl;lg;gphpT 21  c. rl;lg;gphpT 29 
d. rl;lg;gphpT 21A   e. tpil njhpatpy;iy 
 

20. Choose the correct answer: 
POCSO Act 
a. Children Economic Exploitation  
b. Children Sexual Exploitation 
c. Children Sexual Abuse    
d. Protection of children from sexual offences Act 
e. Answer not known 
rhpahd tpiliaj; Njh;e;njLj;J vOJf. 
‘Nghf;Nrh’ – rl;lk; vd;gJ _____ MFk;. 

a. Foe;ijfs; kPjhd nghUshjhur; Ruz;ly; 
b. Foe;ijfs; kPjhd ghypay; Ruz;ly; 
c. Foe;ijfs; kPjhd ghypay; Jd;GWj;jy; 
d. ghypay; Fw;wq;fspypUe;J Foe;ijfisg; ghJfhf;Fk; rl;lk; 
e. tpil njhpatpy;iy 
 

21. Elected members of the Parliament from Tamilnadu 
a. Rajya Sabha – 18 members and Lok Sabha – 39 members. 
b. Rajya Sabha – 28 members and Lok Sabha – 39 members. 
c. Rajya Sabha – 81 members and Lok Sabha – 39 members. 
d. Rajya Sabha – 80 members and Lok Sabha – 39 members. 
e. Answer not known 
jkpofj;jpypUe;J ehlhSkd;wj;jpw;F Njh;e;njLf;fg;gLk; cWg;gpdh;fspd; vz;zpf;if 
a. khepyq;fsit 18 cWg;gpdh;fs; kw;Wk; kf;fsit 39 cWg;gpdh;fs; 
b. khepyq;fsit 28 cWg;gpdh;fs; kw;Wk; kf;fsit 39 cWg;gpdh;fs; 
c. khepyq;fsit 81 cWg;gpdh;fs; kw;Wk; kf;fsit 39 cWg;gpdh;fs; 
d. khepyq;fsit 80 cWg;gpdh;fs; kw;Wk; kf;fsit 39 cWg;gpdh;fs; 
e. tpil njhpatpy;iy 
 

22. The authority to alter the boundaries of State in India rests with 
a. The President  b. The Prime Minister  c. State Government 
d. Parliament  e. Answer not known 
,e;jpa khepyq;fspd; vy;iyfis khw;wpaikf;Fk; mjpfhuk; ______ ,lk; cs;sJ. 
a. FbauRj; jiyth; b. gpujk mikr;rh;  c. khepy murhq;fk; 

c. ehlhSkd;wk;  e. tpil njhpatpy;iy 
 

23. The Central Government Hindu Succession Act was amended in the year 
a. 2002 b. 2003 c. 2004  d. 2005 e. Answer not known 
kj;jpa muR ,e;J thhpRhpik rl;lk; ve;j Mz;L jpUj;jq;fis Nkw;nfhz;lJ? 
a. 2002 b. 2003 c. 2004  d. 2005 e. tpil njhpatpy;iy 
 

24. The term “Pressure Group” originated by 
a. U.S.A. (United States of America) b. India   c. England 
d. Canada     e. Answer not known 
mOj;jf; FOf;fs; vd;Dk; nrhy;ypid cUthf;fpa ehL 
a. mnkhpf;f If;fpa ehLfs;  b. ,e;jpah   c. ,q;fpyhe;J 
d. fdlh     e. tpil njhpatpy;iy 
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25. The institution of Lokayukta was created first in Maharastra in the year 
a. 1970 b. 1971 c. 1972  d. 1973  e. Answer not known 
Nyhf;MAf;jh mikg;G kfhuh~;buh khepyj;jpy; ve;j Mz;L njhlq;fg;gl;lJ? 
a. 1970 b. 1971 c. 1972  d. 1973  e. tpil njhpatpy;iy 
 

26. In which year Periyar E.V.R. published a English magazine under the title “Revolt”? 
a. 1925 b. 1928 c. 1933  d. 1934 e. Answer not known 
‘hpNthy;l;’ vd;Dk; Mq;fpyg; gj;jphpf;ifia <.Nt.uh nghpahh; njhlq;fpa Mz;L vJ? 
a. 1925 b. 1928 c. 1933  d. 1934 e. tpil njhpatpy;iy 
 

27. Bharathi was displaced to ____ area due to English intimidation. 
a. Mahe   b. Pondicherry  c. Bombay 
d. Kasi   e. Answer not known 
Mq;fpNyah; mr;RWj;jy; fhuzkhf ghujp _____ gFjpf;F ,lk; ngah;e;jhh;. 
a. khN`   b. ghz;br;Nrup   c. gk;gha; 
d. fhrp   e. tpil njhpatpy;iy 
 

28. The Indian National Army trials were held at  
a. Agra Fort   b. Red Fort   c. Fort William 
d. Fort St. George  e. Answer not known 
,e;jpa Njrpa ,uhZtj;jpd; kPJ tprhuiz eilngw;w ,lk; ____ MFk;. 
a. Mf;uh Nfhl;il  b. nrq;Nfhl;il  c. tpy;ypak; Nfhl;il 
d. Gdpj [hh;[; Nfhl;il e. tpil njhpatpy;iy 
 

29. Who has written “Amar Sonar Bangla” the National Anthem of Bangladesh? 
a. Syed Abu Mohammad  b. Rajani Kanta Sen  c. Rabindranath Tagore 
d. Mukunda Das   e. Answer not known 
“mkh; Nrhdhh; gq;fsh” vd;w tq;fhs Njrpa fPjj;ij ,aw;wpath; ahh;? 
a. iraJ mG Kfk;kJ  b. ,u[pdp fe;jh nrd; c. ,utPe;jpuehj; jh$h; 
d. KFe;jh jh~;   e. tpil njhpatpy;iy 
 

30. Political Guru of Kamaraj was 
a. Rajaji   b. Sathyamurthi   c. Nehru 
d. Gandhi   e. Answer not known 
fhkuhrhpd; murpay; FU ahh;? 
a. ,uh[h[p   b. rj;jpa%h;j;jp   c. NeU 
d. fhe;jp   e. tpil njhpatpy;iy 
 

31. Who was the Political Guru of Mahatma Gandhi? 
a. M.G. Ranade   b. W.C. Banerjee  c. Balagangatara Tilak 
d. Gopalakrishna Gokhale e. Answer not known 
kfhj;kh fhe;jpapd; murpay; FU ahh;? 
a. M.G. uhzNl   b. W.C. ghdh;[P  c. ghyfq;fhju jpyfh; 
d. Nfhghy fpU~;z NfhfNy e. tpil njhpatpy;iy 
 

32. Which Day was observed on 8th January 1933? 
a. Temple Entry Day  b. Day of Deliverance c. Direct Action Day 
d. Independence Day  e. Answer not known 
1933-Mk; Mz;L [dthp 8-Mk; ehs; ve;j ehshf mDrhpf;fg;gl;lJ? 
a. Nfhtpy; EioT ehs;    b. kPl;G ehs; (nlyptu;d;]; Nl) 
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c. Neub eltbf;if ehs;    d. Rje;jpu ngUehs; 
e. tpil njhpatpy;iy 
 

33. Sivasubramanianar was executed on 13 September 1799 at 
a. Kayathar    b. Nagalapuram  c. Virupachi 
d. Panchalamkurichi  e. Answer not known 
rptRg;gpukzpadhh; 1799 nrg;lk;gh; 13 Mk; ehs; J}f;fpyplg;gl;l ,lk; 
a. faj;jhW    b. ehfyhGuk;   c. tpUg;ghl;rp 
d. ghQ;rhyq;Fwpr;rp   e. tpil njhpatpy;iy 
 

34. ____ day was declared as ‘Purna Swaraj Day’ by the Indian National Congress. 
a. January 26, 1930   b. January 29, 1929  c. August 16, 1930 
d. August 18, 1930   e. Answer not known 
,e;jpa Njrpa fhq;fpurhy; G+uz Rje;jpu ehshff; nfhz;lhba ehs; 
a. [dthp 26> 1930   b. [dthp 29> 1929  c. Mf];l; 16> 1930 
d. Mf];l; 18> 1930   e. tpil njhpatpy;iy 
 

35. When a number is decreased by 25%, it becomes 120. Find the number. 
a. 150  b. 140  c. 160  d. 180  e. Answer not known 
Xh; vz;zpd; kjpg;ig 25% Fiwj;jhy; 120 fpilf;fpwJ vdpy; me;j vz;izf; fhz;f. 
a. 150  b. 140  c. 160  d. 180  e. tpil njhpatpy;iy 
 

36. In an examination A got 25% marks more than B. B got 10% less than C and C got 25% 
more than D. If D got 320 marks out of 500. Find the marks obtained by A. 
a. 405  b. 450  c. 360  d. 400  e. Answer not known 
xU Njh;tpy; A vd;gth; Bia tpl 25% kjpg;ngz;fs; mjpfk; ngw;Ws;shh;. B vd;gth; 
Cia tpl 10% Fiwthf ngw;Ws;shh;. C vd;gth; Dia tpl 25% kjpg;ngz;fs; mjpfk; 
ngw;Ws;shh;. D vd;gth; nkhj;j kjpg;ngz;fs; 500 f;F 320 ngw;Ws;shh; vdpy; A vd;gth; 
ngw;w kjpg;ngz;fs; vt;tsT? 
a. 405  b. 450  c. 360  d. 400  e. tpil njhpatpy;iy 
 

37. Find the single discount in % which is equivalent to two successive discounts of 25% 
and 20% given on an article. 
a. 40%  b. 45%  c. 5%  d. 22.5% e. Answer not known 
xU nghUspd; kPJ toq;fg;gLk; ,U njhlh; js;Sgbfs; KiwNa 25% kw;Wk; 20% 
vdpy;> ,jw;F epfuhd xNu rkhdj; js;Sgb rjtPjj;jpidf; fhz;f. 
a. 40%  b. 45%  c. 5%  d. 22.5% e. tpil njhpatpy;iy 
 

38. Find the HCF and LCM of the numbers 154, 198 and 286. 
a. 22, 18018   b. 154, 18018   c. 18018, 22 
d. 191, 18018   e. Answer not known 
154> 198 kw;Wk; 286 Mfpa vz;fSf;F kP.ngh.fh. kw;Wk; kP.ngh.k. fhz;f. 
a. 22, 18018   b. 154, 18018   c. 18018, 22 
d. 191, 18018   e. tpil njhpatpy;iy 
 

39. The LCM of 8 p2qr, 12 p2r2, 24 pqr is 
a. 24 p2qr2   b. 8 p2qr2    c. 12 pr 
d. 24 pqr   e. Answer not known 
8 p2qr, 12 p2r2, 24 pqr vd;w vz;fspd; kP.ngh.k 
a. 24 p2qr2   b. 8 p2qr2    c. 12 pr 
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d. 24 pqr   e. tpil njhpatpy;iy 
 

40. In a school, there is 7 period a day each of 45 minutes duration. If the school has 9 
periods a day assuming the number of hours to be the same then the duration of each 
period in 
a. 25  b. 20  c. 35  d. 30  e. Answer not known 
xU gs;spapy; 45 epkplq;fisf; nfhz;l 7 ghl Ntisfs; cs;sd. mg;gs;spapy; ghl 
Ntisfs; 9 Mf khWk; NghJ xt;nthU ghl Ntisapd; fhy msT 
a. 25  b. 20  c. 35  d. 30  e. tpil njhpatpy;iy 
 

41. The ratio of the income and to the expenditure of a family is 7 : 6. If the income is Rs. 
21,000, then the savings is 
a. Rs. 6,000   b. Rs. 5,000   c. Rs. 3,000 

d. Rs. 4,000   e. Answer not known 
xU FLk;gj;jpd; tuTf;Fk; nryTf;Fk; ,ilNa cs;s tpfpjk; 7 : 6 kw;Wk; tuT &. 
21>000 vdpy; Nrkpg;G 
a. &. 6>000   b. &. 5>000   c. &. 3>000 
d. &. 4>000   e. tpil njhpatpy;iy 
 

42. If A : B = 4 : 6, B : C = 18:5, then A : B : C is 
a. 16 : 22 : 30   b. 12 : 20 : 5   c. 14 : 20 : 15 
d. 12 : 18 : 5   e. Answer not known 
A : B = 4 : 6, B : C = 18:5 vdpy; A : B : Cd; tpfpjk; 
a. 16 : 22 : 30   b. 12 : 20 : 5   c. 14 : 20 : 15 
d. 12 : 18 : 5   e. tpil njhpatpy;iy 
 

43. A sum of simple interest at 13
1

2
% per annum to Rs. 2,502.50 after 4 years. Find the sum. 

a. 1526   b. 1256   c. 2156 
d. 1625   e. Answer not known 

xU njhifahdJ Mz;Lf;F 13
1

2
% jdptl;b tPjj;jpy; 4 tUlq;fspy; &. 2>502.50 Ij; 

jUfpwJ vdpy; me;j njhifiaf; fhz;f. 
a. 1526   b. 1256   c. 2156 
d. 1625   e. tpil njhpatpy;iy 
 

44. A sum of Rs. 36,000 was lent out at S.I. and at the end of 2 years and 3 months. The total 
amount was Rs.42,480. Find the rate of interest per year. 
a. 5%    b. 6%    c. 7% 
d. 8%    e. Answer not known 
fldhf toq;fg;gl;l mry; &. 36>000f;F 2 Mz;Lfs; 3 khj fhyj;jpw;F gpd; jdptl;b 
%yk; ngwg;gl;l nkhj;j njhif &. 42>480 vdpy; tl;b tPjk; ahJ? 
a. 5%    b. 6%    c. 7% 
d. 8%    e. tpil njhpatpy;iy 
 

45. Which bank is called as lender of last resort? 
a. Commercial Bank  b. Indian Bank  c. Reserve Bank of India 

d. State Bank of India e. Answer not known 
ve;j tq;fp fld; toq;Ftjpy filrp Gfyplk; vd;W miof;fg;gLfpwJ? 
a. tzpf tq;fp  b. ,e;jpad; tq;fp  c. hprh;t; Ngq;f; Mg; ,e;jpah 
d. ];Nll; Ngq;f; Mg; ,e;jpah e. tpil njhpatpy;iy 
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46. If the compound interest on a certain sum at 16
2

3
 % for 3 years is Rs. 1,270. Find the 

simple interest on the same sum at the same rate and for the same period. 
a. Rs. 1,080   b. Rs. 1,000   c. Rs. 1,090 
d. Rs. 1,070   e. Answer not known 

xU njhifapy; $l;Ltl;b 16
2

3
 %f;F 3 Mz;LfSf;F &. 1>270 tl;bahf fpilf;fpwJ 

vdpy; mNj njhif;F jdptl;b tPjj;jpy; 3 Mz;L Kbtpy; fpilf;Fk; tl;bj; njhif 
vt;tsT? 
a. &. 1>080   b. &. 1>000   c. &. 1>090 
d. &. 1>070   e. tpil njhpatpy;iy 
 

47. The bacteria in a culture grows by 5% in the first hour, decreases by 8% in the second 
hour and again increases by 10% in the third hour. Find the count of the bacteria at the 
end of 3 hours, if its initial count was 10,000. 
a. 9266   b. 9626    c. 10626 

d. 10266   e. Answer not known 
xU tifahd ghf;Bhpah KjyhtJ xU kzp Neuj;jpy; 5% tsh;r;rpAk; ,uz;lhtJ kzp 
Neuj;jpy; 8% tsh;r;rp Fd;wpAk;> %d;whtJ kzp Neuj;jpy; 10% tsh;r;rpAk; milfpwJ. 
njhlf;fj;jpy; mjd; vz;zpf;if 10>000 Mf ,Ue;jJ vdpy; %d;W kzp Neuj;jpw;Fg; 
gpwF mjd; vz;zpf;ifiaf; fhz;f. 
a. 9266   b. 9626    c. 10626 

d. 10266   e. tpil njhpatpy;iy 
 

48. The internal and external radii of a hollow hemispherical shell are 3 m and 5 m 
respectively. Find the C.S.A. and T.S.A. of the shell? 
a. 213.71 m2, 264 m2  b. 214.70 m2, 260 m2  c. 210.71 m2, 265 m2 
d. 210.71 m2, 264 m2  e. Answer not known 
Xh; cs;sPlw;w miuf;Nfhs Xl;bd; cs; kw;Wk; ntspg;Gw Muq;fs; KiwNa 3 kP kw;Wk; 
5 kP MFk;. Xl;bd; tisgug;G kw;Wk; nkhj;jg; Gwg;gug;G fhz;f. 
a. 213.71 m2, 264 m2  b. 214.70 m2, 260 m2  c. 210.71 m2, 265 m2 
d. 210.71 m2, 264 m2  e. tpil njhpatpy;iy 
 

49. The ratio of the volumes of a cylinder, a cone and a sphere, if each has the same 
diameter and same height is 
a. 1 : 2 : 3   b. 2 : 1 : 3   c. 3 : 1 : 2 

d. 1 : 3 : 2   e. Answer not known 
rkkhd tpl;lk; kw;Wk; cauk; cila Xh; cUis> xU $k;G kw;Wk; xU Nfhsj;jpy; 
fd msTfspd; tpfpjk;. 
a. 1 : 2 : 3   b. 2 : 1 : 3   c. 3 : 1 : 2 

d. 1 : 3 : 2   e. tpil njhpatpy;iy 
 

50. A and B can together finish a work in 30 days. They worked together for 20 days and 
then B left. After another 20 days, A finished the remaining work. In how many day A 
alone can finish the job? 
a. 60 days   b. 54 days   c. 50 days 
d. 40 days   e. Answer not known 
‘A’ kw;Wk; ‘B’ MfpNahh; ,ize;J xU Ntiyia 30 ehl;fspy; Kbg;gh;. ,UtUk; 
Nrh;e;J 20 ehl;fs; Ntiy nra;j gpwF ‘B’ nrd;W tpLfpwhh;. kPjKs;s Ntiyia ‘A’ 
20 ehl;fspy; Kbg;ghh; vdpy;> KO Ntiyia ‘A’ vj;jid ehl;fspy; Kbg;ghh;? 
a. 60 ehl;fs;     b. 54 ehl;fs;   c. 50 ehl;fs; 
d. 40 ehl;fs;    e. tpil njhpatpy;iy 
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51. A man starts his journey from Chennai to Delhi by train. He starts at 22.30 hours on 

Wednesday. If it takes 32 hours of travelling time and assuming that the train is not 
late, when will he reach Delhi? 
a. Friday – 6:30 a.m   b. Friday – 6:30 p.m.  c. Wednesday – 1:30 p.m 
d. Thursday – 11:00 a.m  e. Answer not known 
xUth; nrd;idapypUe;J nly;ypf;Fr; nry;y ,uapypy; Gwg;gLfpwhh;. mth; jdJ 
gazj;ijg; Gjd;fpoik 22.30 kzpf;Fj; njhlq;Ffpwhh;. ve;jtpjj; jhkjKkpd;wp ,uapy; 
nry;tjhff; fz;lhy; nkhj;jg; gaz Neuk; 32 kzp Neuk; MFk;. mth; vg;nghOJ 
nly;ypiar; nrd;wilthh;? 
a. nts;spf;fpoik – 6:30 a.m    b. nts;sp – 6:30 p.m 
c. Gjd;fpoik - 1:30 p.m     d. tpahof;fpoik – 11.00 a.m 
e. tpil njhpatpy;iy 
 

52. An integer is chosen from the first twenty natural numbers. What is the probability that 
is a Prime Number? 

a. 
1

6
   b. 

1

2
  c. 

𝟐

𝟓
  d. 

3

5
  e. Answer not known 

Kjy; ,UgJ ,ay; vz;fspypUe;J xU KO vz; rktha;g;G Kiwapy; 
Njh;e;njLf;fg;gLfpwJ. me;j vz; gfh vz;zhf ,Ug;gjw;fhd epfo;jftpidf; fhz;f. 

a. 
1

6
   b. 

1

2
  c. 

𝟐

𝟓
  d. 

3

5
  e. tpil njhpatpy;iy 

 
53. The mean of 5, 9, x, 17 and 21 is 13, then find the value of x. 

a. 9   b. 13  c. 17  d. 21  e. Answer not known 
5> 9> x> 17 kw;Wk; 21d; ruhrhpahdJ 13 vdpy;> x d; kjpg;G fhz;. 
a. 9   b. 13  c. 17  d. 21  e. tpil njhpatpy;iy 
 

54. The Mean of five numbers is 27. If one of the numbers is excluded, the Mean gets 
reduced by 2. What is the excluded number? 
a. 35   b. 27  c. 25  d. 40  e. Answer not known 
5 vz;fspd; ruhrhp 27. ,jpy; xU vz;iz ePf;Fk; NghJ ruhrhp 2 FiwfpwJ vdpy; 
tpLgl;l vz; vJ? 
a. 35   b. 27  c. 25  d. 40  e. tpil njhpatpy;iy 
 

55. How many 8’s are there in the following sequence, which are preceded by 5, but not 
immediately followed by 3? 

5 8 3 7 5 8 6 3 8 5 4 5 8 4 
7 6 5 5 8 3 5 8 7 5 8 2 8 5 

 a. 1  b. 2  c. 3  d. 4  e. Answer not known 
fPo;f;fz;l vz; thpirapy;> vz; 5f;F mLj;J tuf;$baJk;> vz; 3 njhlh;e;j 
tuhjJkhfpa vz; 8d; vz;zpf;ifiaf; fhz;. 

5 8 3 7 5 8 6 3 8 5 4 5 8 4 
7 6 5 5 8 3 5 8 7 5 8 2 8 5 

a. 1  b. 2  c. 3  d. 4  e. tpil njhpatpy;iy 
 

56. Find the next number? 
3, 10, 29, 66, 127, _____. 
a. 164  b. 187  c. 218  d. 216  e. Answer not known 
mLj;J tUk; vz; ahJ? 
3, 10, 29, 66, 127, _____. 
a. 164  b. 187  c. 218  d. 216  e. tpil njhpatpy;iy 
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57. The next number in the following sequences: 

198, 194, 185, 169, ? 
a. 92  b. 112  c. 136  d. 144  e. Answer not known 
gpd;tUk; njhlh;thpirapd; mLj;j vz; 
a. 92  b. 112  c. 136  d. 144  e. tpil njhpatpy;iy 
 

58. The value of a motor cycle depreciates at the rate of 15% per year. What will be the 
value of the motorcycle after 3 years hence, which is now purchased for Rs. 45,000. 
a. Rs. 32,513    b. Rs. 37,635    c. Rs. 27,636 

d. Rs. 38,250    e. Answer not known 
xU thfdj;jpd; kjpg;G xt;Nthh; Mz;Lk; 15% FiwfpwJ. thfdj;jpd; jw;Nghij kjpg;G 
&. 45>000 vdpy;> 3 Mz;LfSf;Fg; gpwF thfdj;jpd; kjpg;G vd;d? 
a. &. 32>513    b. &. 37>635    c. &. 27>636 
d. &. 38>250    e. tpil njhpatpy;iy 
 

59. If the HCF of two positive integers is 1 then what will be the two numbers? 
a. Relatively prime 
b. Atleast one of them must be a Prime number 
c. Both are even numbers 
d. One is the multiple of the other 
e. Answer not known 
,U kpif KOf;fspd; kPg;ngU nghJ tFj;jp 1 vdpy; mt;tpU vz;fSk; vt;thW 
miof;fg;gLk;? 
a. mt;tpU vz;fSk; rhh;gfh vz;fs; 

b. xU vz;zhtJ gfh vz;zhf ,Uf;f Ntz;Lk; 
c. ,U vz;fSk; ,ul;il vz;fs; 
d. xU vz;zpd; klq;F kw;nwhU vz; 
e. tpil njhpatpy;iy 
 

60. ‘ORCAM Read’ is a device invented in 2021 to assist people with impairment in 
a. sight    b. hearing   c. eating 
d. mobility    e. Answer not known 
2021Mk; Mz;L fz;Lgpbf;fg;gl;l ‘Mh;fhk;-hPl;’ vd;w rhjdk; fPo;tUk; ve;j tifahd 
FiwghLs;s kdpjh;fSf;F gad;gLfpwJ? 
a. ghh;it    b. Nfl;ly;   c. cz;Zjy; 
d. ,af;fk;    e. tpil njhpatpy;iy 
 

61. How many countries are the members in BRICs? 
a. 5  b. 4   c. 3  d. 2  e. Answer not known 
BRICs vd;w mikg;gpy; vj;jid ehLfs; cWg;G ehLfshf ,Uf;fpd;wd? 
a. 5  b. 4   c. 3  d. 2  e. tpil njhpatpy;iy 
 

62. Annai Therasa Ninaivu Marriage Assistance scheme deals with 
a. Poor Widows   b. Minority   c. Single Mothers 
d. Orphan Women’s Marriage e. Answer not known 
gpd;tUtdtw;Ws; md;id njurh epidTj; jpUkz cjtpj; jpl;lk; vjid 
mbg;gilahff; nfhz;lJ? 
a. Vio tpjitfs;   b. rpWghd;ikNahh;  c. xw;iw jha;khh;fs; 
d. mdhijg; ngz;fspd; jpUkzk; e. tpil njhpatpy;iy 
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63. Which sports person is the author of the book ‘Playing it my way’? 
a. Kapil Dev   b. Yuvaraj Singh  c. Sachin Tendulkar 
d. Sania Nehwal  e. Answer not known 
‘Playing it my way’ vd;w Gj;jfj;ij vOjpa tpisahl;L tPuh; ahu;? 
a. fgpy; Njt;   b. Atuh[; rpq;  c. rr;rpd; nlz;Ly;fh; 
d. rhdpah Nethy;  e. tpil njhpatpy;iy 
 

64. Which of the following are incorrectly paired? 
Zonal Railways  Head Quarters 
1. North Central - Allahabad 
2. Western  - Mangalore 
3.  Central  - Jansi 
4. East Central - Hajipur 
a. 1 and 2   b. 2 and 3   c. 1 and 4 
d. 3 and 4   e. Answer not known 
gpd;tUgtw;Ws; vJ jtwhf ,izf;fg;gl;Ls;sd? 
uapy; kz;lyk;   jiyikafk; 
1. kj;jpa tlf;F - myfhghj; 
2. Nkw;F  - kq;f@h; 
3. kj;jpa  - [hd;rp 
4. kj;jpa fpof;F - `h[pG+h;; 
a. 1 kw;Wk; 2   b. 2 kw;Wk; 3    c. 1 kw;Wk; 4 
d. 3 kw;Wk; 4  e. tpil njhpatpy;iy 
 

65. The National Human Right Commission was established in the year 
a. 1948 December, 9  b. 1948 December, 10  c. 1949 December, 9 
d. 1949 December, 10 e. Answer not known 
Njrpa kdpj chpik Mizak; mikf;fg;gl;l Mz;L 
a. 1948 brk;gh;> 9  b. 1948 brk;gh;> 10   c. 1949 brk;gh;> 9 
d. 1949 brk;gh;> 10  e. tpil njhpatpy;iy 
 

66. Who succeeded K. Kamaraj as the Chief Minister of Madras Presidency? 
a. C.N. Annadurai     b. M. Bakthavatsalam 

c. M. Karunanidhi     d. P.S. Kumarasamy Raja 
e. Answer not known 
Nf. fhkuh[Uf;F gpd; kjuh]; khepyj;jpd; Kjyikr;ruhfg; nghWg;G Vw;wth; ahh;? 
a. rp.vd;. mz;zhJiu    b. vk;. gf;jtj;ryk; 
c. K. fUzhepjp     d. gp.v];. Fkhurhkp uh[h 
e. tpil njhpatpy;iy 
 

67. The Announcement that, ECR (East Coast Road) will be renamed “Muthamizh Arignar 
Kalaignar Karunanidhi Salai” was made by the Chief Minister of Tamil Nadu M.K. 
Stalin in 
a. February 02, 2022   b. March 02, 2022  c. April 02, 2022 
d. May 02, 2022   e. Answer not known 
ECR (fpof;F flw;fiur; rhiy) vd;w ngaiu “Kj;jkpo; mwpQh; fiyQh; fUzhepjp 
rhiy” vd;W miof;fg;gLk; vd Kjyikr;rh; K.f. ];lhypd; mwptpj;j ehs; 
a. gpg;uthp 02> 2022   b. khh;r; 02> 2022  c. Vg;uy; 02> 2022 
d. Nk 02> 2022   e. tpil njhpatpy;iy 
 

68. The term “Secularism” is derived from _____ language. 
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a. Greek   b. Latin    c. Urdu 
d. English   e. Answer not known 
“rkar;rhh;gpd;ik” vd;Dk; nrhy; ____ nkhopapy; ,Ue;J te;jJ. 
a. fpNuf;fk;   b. ,yj;jPd;    c. cUJ 
d. Mq;fpyk;   e. tpil njhpatpy;iy 
 

69. Indian ____ plays an important part in fostering unity and integration. 
a. Dance and Music    b. Literature and Grammar 
c. Food and Customs   d. Art and Architecture 
e. Answer not known 
,e;jpahtpy; _____ xw;WikiaAk;> xUikg;ghl;ilAk; tsh;f;f nghpJk; cjTfpd;wd. 
a. eldk; kw;Wk; ,ir   b. ,yf;fpak; kw;Wk; ,yf;fzk; 

c. czT kw;Wk; gof;ftof;fq;fs; d. fiy kw;Wk; fl;blf;fiy 
e. tpil njhpatpy;iy 
 

70. During the Pallava Period, the foreign merchants were known as  
a. Pattanaswamy   b. Nanadesi   c. Videshi 
d. Desi    e. Answer not known 
gy;yth;fs; fhyj;jpy; may;ehl;L tzpfh;fs; ____ vd;W mwpag;gl;ldh;. 
a. gl;lzrhkp    b. ehdhNjrp   c. tpNjrp 
d. Njrp    e. tpil njhpatpy;iy 
 

71. The Archaeological survey of India headquarters is located in 
a. New Delhi  b. Mumbai   c. Chennai 
d. Kolkatta   e. Answer not known 
,e;jpa njhy;ypay; Jiwapd; jiyikafk; _____ cs;sJ. 
a. GJ jpy;yp   b. Kk;ig   c. nrd;id 
d. nfhy;fj;jh  e. tpil njhpatpy;iy 
 

72. Choose the correct pair from the following: 
a. Holkar - Pune 
b. Bhonsle - Nagpur 
c. Scindhia - Baroda 
d. Peshwa - Indore 
e. Answer not known 
fPo;f;fz;ltw;Ws; rhpahd ,iziaj; Njh;e;njLf;fTk;: 
a. N`hy;fh;  - GNd 
b. ghd;];Ny  - ehf;G+h; 
c. rpe;jpah  - gNuhlh 
d. Ng~;th  - ,e;J}h; 
e. tpil njhpatpy;iy 
 

73. Identify the wrongly matched pair from the following: 
a. Zahir-ud-din Babur - The conqueror of the World 
b. Shah Jahan   - King of the world 
c. Shahji Bhonsle  - Shivaji’s Father 
d. Regent of Akbar  - Bairam Khan 
e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j ,iz jtwhfg; nghUe;jpAs;sJ: 
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a. [hfpUjpd; ghgh;  - cyiff; ifg;gw;wpath; 
b. ~h[fhd;   - cyfj;jpd; murh; 
c. ~h[p ghd;];Ny  - rpth[papd; je;ij 
d. mf;ghpd; ghJfhtyh; - iguhk; fhd; 
e. tpil njhpatpy;iy 
 

74. _____ is the epitome of Mughal architecture. 
a. Gol Gumbaz  b. The Shalimar Gardens  c. Humanyun’s Tomb 
d. Tajmahal   e. Answer not known 
_____ Kfyhaf; fl;blf; fiyapd; rpwg;Gkpf;f tbtkhFk;. 
a. Nfhy; Fk;gh];     b. ~hypkh; Njhl;lq;fs;  
c. `PkhA+dpd; fy;yiw    d. jh[;k`hy; 

e. tpil njhpatpy;iy 
 

75. Who is the author of the book ‘Why the Woman is Enslaved’? 
a. Singaravelar    b. Muthulakshmi Ammaiyar  
c. Periyar     d. Neelambikai Ammaiyar  
e. Answer not known 
‘ngz; Vd; mbikahdhs;’ vd;w E}ypd; Mrphpah; ahh;? 
a. rpq;fhuNtyh;    b. Kj;Jyl;Rkp mk;ikahh; 
c. nghpahh;     d. ePyhk;gpif mk;ikahh; 
e. tpil njhpatpy;iy 
 

76. ______ established a full fledges Printing Press in 1709, at Tranquebar. 
a. Caldwell    b. F.W. Ellis   c. Ziegenbalg 

d. Meenakshi Sundaram  e. Answer not known 
1709-,y; juq;fk;ghbapy; _____ xU KOikahd mr;rfj;ij epWtpdhh;. 
a. fhy;Lnty;    b. F.W. vy;yp];  c. rPfd;ghy;F 
d. kPdhl;rp Re;juk;   e. tpil njhpatpy;iy 
 

77. Pick the odd one out: 
Rettaimalai Srinivasan 
1. Founded the Adi Dravida Mahajana Sabha in 1893. 
2. Participated in the First and Second Round Table Conferences held in London. 
3. Frequently wrote columns under the pseudonym of “Chitraputtiran”. 
4. Was a signatory to the Poona pact of 1932. 
a. 1, 2 and 3    b. 2 and 4   c. 3 only 

d. 4 only    e. Answer not known 
jtwhd xd;iw njhpT nra;f: 
,ul;il kiy rPdpthrd; 
1. 1893-,y; Mjp jpuhtpl kfh[d rig vDk; mikg;ig cUthf;fpdhh;. 
2. ,yz;ldpy; eilngw;w Kjy; kw;Wk; ,uz;lhk; tl;l Nkir khehLfspy; 

fye;Jnfhz;lhh;. 
3. mt;tg;NghJ ‘rpj;jpu Gj;jpud;’ vDk; Gidg; ngahpy; fl;LiufSk; vOjpdhh;. 
4. 1932-,y; nra;J nfhs;sg;gl;l G+dh xg;ge;jj;jpy; ifnaOj;jpl;lth;fSs; ,tUk; 

xUth;. 
a. 1> 2 kw;Wk; 3   b. 2 kw;Wk; 4    c. 3 kl;Lk; 
d. 4 kl;Lk;    e. tpil njhpatpy;iy 
 

78. Father of Velunachiyar was 
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a. Muthu kumara Raghunatha Sethupathy 
b. Chellamuthu Vijaya Raghunatha Sethupathy 
c. Periya Udaiyar Sethupathy 
d. Sundaresvara Raghunatha Sethupathy 
e. Answer not known 
NtY her;rpahhpd; je;ijapd; ngah; _____ MFk;. 
a. Kj;J Fkhu uFehj NrJgjp 
b. nry;yKj;J tp[a uFehj NrJgjp 
c. nghpa cilahh; NrJgjp 
d. Re;jNu];tu uFehj NrJgjp 
e. tpil njhpatpy;iy 
 

79. _____ is called the ‘Lion of Sivaganga’. 
a. Periya Marudhu   b. Chinna Marudhu  c. Velu Nachiyar 
d. Kattapomman   e. Answer not known 
‘rptfq;ifapd; rpq;fk;’ vd miof;fg;gLgth; ______. 
a. nghpa kUJ   b. rpd;d kUJ  c. NtY ehr;rpahh; 
d. fl;lnghk;kd;   e. tpil njhpatpy;iy 
 

80. Which of the following statements are true about Keezhadi? 
(i) Evidence for brick buildings 
(ii) Tamil-Brahmi inscriptions on pottery 
(iii) Copper rods used for decorating eyelashes 
(iv) Keezhadi has been mentioned in Pathitrupattu 
a. (i), (ii) and (iv) only    b. (i), (ii), (iii) and (iv) are true 
c. (i), (ii) and (iii) only    d. (ii) and (iv) only 
e. Answer not known 
fPo;f;fhZk; $w;Wfspy; fPobiag; gw;wpa rhpahd $w;Wfs; vit? 
(i) nrq;fw; fl;Lkhdq;fs; 
(ii) jkpo; - gpuhkp vOj;Jfs; nfhz;l kl;fy XLfs; 
(iii) fz;Zf;F ik jPl;Lk; nrg;Gf; fk;gp 
(iv) gjpw;Wg;gj;jpy; fPobiag; gw;wp Fwpg;gplg;gl;Ls;sJ 
a. (i)> (ii) kw;Wk; (iv) rhp   b. (i)> (ii)> (iii) kw;Wk; (iv) midj;Jk; rhp 
c. (i)> (ii) kw;Wk; (iii) rhp   d. (ii) kw;Wk; (iv) rhp 
e. tpil njhpatpy;iy 
 

81. The name of the script used in the Sangam Age. 
a. Kharoshthi    b. Devanagiri   c. Tamil-Brahmi 
d. Grantha    e. Answer not known 
rq;f fhyj;jpy; gad;gLj;jg;gl;l vOj;J Kiw ahJ? 
a. fNuh~;jp    b. Njtehfphp   c. jkpo;-gpuhkp 
d. fpue;jk;    e. tpil njhpatpy;iy 
 

82. Tho’ human beings in their birth are the same by diverse trade their worth isn’t the 
same. 
Trace the essence or meaning of this Kural 
a. Removal of Casteism     b. Removal of Communalism 
c. Removal of Class System    d. Removal of Varunasiram 
e. Answer not known 
gpwg;nghf;Fk; vy;yh caph;f;Fk; rpwg;nght;th 
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nra;njhopy; Ntw;Wik ahd; - ,f;Fws; topg; ngwg;gLk; fUj;J ahJ? 
a. rhjp xopg;G   b. kj xopg;G   c. th;f;f xopg;G 
d. tUz xopg;G   e. tpil njhpatpy;iy 
 

83. What according Valluvar is the great help rendered by the son to his father? 
a. Protection at his old age    b. Saying good words 
c. Give monetary help    d. To bring honour 
e. Answer not known 
kfd; je;ijf;F Mw;Wk; cjtp – vd;W ts;Sth; vjidf; Fwpg;gpLfpd;whh;? 
a. KJikapy; fhj;jy;    b. ew;nrhy; $wy; 
c. nghUs; nfhLj;J cjTjy;   d. GfOk; gb tho;jy; 
e. tpil njhpatpy;iy 
 

84. What will happen to a man who walks in grace deters and walks towards materialism 
according to Valluvar? 
a. Live a Good Life     b. Live in Prosperity 
c. Get Destroyed     d. Live with Relatives 
e. Answer not known 
mUis tpUk;gp elg;gth;> gpwh; nghUis tpUk;g Nehpl;lhy; mth; vd;d Mthh; vd 
ts;Sth; tpdTfpwhh;? 
a. ed;F tho;thh;   b. nropg;Gld; tho;thh;  c. nfl;nlhopthh; 
d. Rw;wKld; tho;thh;  e. tpil njhpatpy;iy 
 

85. Who according to Valluvar is superior to the person who does charity and penance? 
a. One who never slanders    b. One who speaks truth 
c. One who is learned    d. One who talks sweetly 
e. Answer not known 
jhdKk; jtKk; nra;gth;fistpl cah;e;jth;fs; ahh; vd;W ts;Sth; Fwpg;gpLfpwhh;? 
a. Gwq;$whjth;     b. cz;ik NgRgth; 
c. fy;tp Nfs;tpfspy; rpwe;jth;   d. ,dpjhfg; NgRgth; 
e. tpil njhpatpy;iy 
 

86. What kind of wealth will give happiness according to Valluvar? 
a. Donated Wealth      b. Wealth by Rights 
c. Wealth that is earned through fair means 
d. Wealth by Warfare 
e. Answer not known 
vg;gbg;gl;l nghUs; xUtUf;F ,d;gj;ijj; jUk; vd;W ts;Sth; Fwpg;gpLfpd;whh;? 
a. nfhilahy; te;j nghUs;    b. chpikahy; te;j nghUs; 
c. jPjpd;wp te;j nghUs;     d. Nghuhy; te;j nghUs; 
e. tpil njhpatpy;iy 
 

87. How does Valluvar see those who fix their attention on impermanent things? 
a. In Excellence   b. Deplorable   c. Hopeful 
d. Surprised    e. Answer not known 
epiyaw;witfis epiyahdit vd;W fUJfpwth;fis ts;Sth; vg;gbg; ghh;f;fpwhh;? 
a. ngUikahf   b. ,opthf   c. ek;gpf;ifahf 
d. tpag;ghf    e. tpil njhpatpy;iy 
 

88. Match the following: 
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A. First Automobile industry   1. Serampore 
B. National News print and Paper Mill  2. Kolkata 
C. Central Silk Board    3. Nepa Nagar 
D. First Paper Mill India    4. Bangalore 
 A B C D 
a. 2 3 4 1 
b. 4 3 2 1 
c. 1 2 3 4 
d. 4 1 2 3 
e. Answer not known 
rhpahfg; nghUe;jpAs;sijf; fhz;f. 
A. Kjy; thfdj; njhopw;rhiy    1. nruhk;G+h; 

B. Njrpar; nra;jpj;jhs; kw;Wk; fhfpj Miy  2. nfhy;fj;jh 
C. kj;jpa gl;L thhpak;     3. Negh efh; 
D. Kjy; fhfpjj; njhopw;rhiy    4. ngq;f@U 
 A B C D 
a. 2 3 4 1 
b. 4 3 2 1 
c. 1 2 3 4 
d. 4 1 2 3 
e. tpil njhpatpy;iy 
 

89. Which of the following statements are true about the weakness of Green Revolution? 
(i) This strategy needed heavy investment in seeds and fertilizers. 
(ii) Boosted the production of major cereals like wheat and rice. 
(iii) Larger chemical use reduced the soil fertility. 
a. (i) and (ii) only   b. (i) and (iii) only  c. (i) only 
d. (ii) and (iii) only   e. Answer not known 
gRikg; Gul;rpapd; gytPdq;fs; vd;gijg; gw;wpa gpd;tUk; thf;fpaq;fspy; vit 
rhpahdit? 
(i) tpijfs; kw;Wk; cuq;fSf;Fg; NgusT %yjdk; Njitg;gLfpwJ. 
(ii) Kjd;ikg; gaph;fshd NfhJik kw;Wk; netl cw;gj;jp gd;klq;fhfg; ngUfpaJ. 
(iii) mjpf cuq;fspd; gad;ghL epyj;jpd; nrOikj; jd;ikiag; ghjpj;jJ. 
a. (i) kw;Wk; (ii) kl;Lk;  b. (i) kw;Wk; (iii) kl;Lk; c. (i) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk;  e. tpil njhpatpy;iy 
 

90. In 1940 Bombay Plan was Presented by 
a. 8 Leading Politicians    b. 8 Leading Economists  
c. 8 Leading Philosophers    d. 8 Leading Industrialist 
e. Answer not known 
1940 ,y; gk;gha; jpl;lj;ij toq;fpath;fs; 
a. vl;L Kd;dzp murpay; murpay;thjpfs; 
b. vl;L Kd;dzp nghUspay; mwpQh;fs; 
c. vl;L Kd;dzp jj;Jtthjpfs; 
d. vl;L Kd;dzp njhopy; mjpgh;fs; 
e. tpil njhpatpy;iy 
 

91. Per capita Income can be calculated by 
a. National Income/Population   b. National Income – Population 

c. National Income + Population   d. National Income  Population 
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e. Answer not known 
jdpegh; tUkhdk; fzf;fplg;gLtJ 
a. Njrpa tUkhdj;jpypUe;J kf;fs; njhifia tFj;jy; 
b. Njrpa tUkhdj;jpypUe;J kf;fs; njhifiaf; fopj;jy; 
c. Njrpa tUkhdj;jpypUe;J kf;fs; njhifiaf; $l;Ljy; 
d. Njrpa tUkhdj;jpypUe;J kf;fs; njhifiag; ngUf;Fjy; 
e. tpil njhpatpy;iy 

 
92. The Aim of the Second Five Year Plan 

a. Removal of Poverty   b. Rapid Industrialization 

c. Employment    d. Social Justice 
e. Answer not known 
,uz;lhtJ Ie;jhz;Lj; jpl;lj;jpd; Nehf;fk; 
a. tWik xopg;G    b. tpiuthd njhopy; tsh;r;rp 
c. Ntiytha;g;G    d. r%f ePjp 
e. tpil njhpatpy;iy 
 

93. Which of the following point(s) is/are being included while defining ‘Social Justice’. 
1. Equal rights 
2. Equal opportunity 
3. Equal treatment 
4. Equal distribution of wealth for all 
a. 1 only    b. 1 and 2 only  c. 1, 2 and 3 only 

d. 1, 2 and 4 only   e. Answer not known 
fPo;f;fhz;gtw;Ws; vJ/vit ‘r%f ePjp’ia tiuaWf;Fk; nghOJ Nrh;j;Jf; 
nfhs;sg;gLfpwJ. 
1. rk chpik 
2. rk tha;g;G 
3. rkkhf elj;Jjy; 
4. nry;tj;jpid midtUf;Fk; rkkhf gfph;jy; 
a. 1 kl;Lk;    b. 1 kw;Wk; 2 kl;Lk; c. 1>2 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 4 kl;Lk;  e. tpil njhpatpy;iy 
 

94. First Human Development Report by Tamil Nadu Government was published in the 
year 
a. 2000 b. 2003 c. 2006  d. 2004 e. Answer not known 
jkpof muR Kjy; kdpj tsh;r;rp mwpf;if ntspapl;l Mz;L 
a. 2000 b. 2003 c. 2006  d. 2004  e. tpil njhpatpy;iy 
 

95. Choose the correct matched type : 
1. NHRC - National Human Rights Commission 
2. SHRC - Statutory Human Rights Commission 
3. NCW - National Council for Women 
4. RTI  - Right to Information Act 
a. 1 and 2 are correct  b. 1 and 4 are correct c. 2 and 3 are correct 
d. 2 and 4 are correct  e. Answer not known 
,jpy; rhpahdit vit? 
1. NHRC – Njrpa kdpj chpikfs; Mizak; 
2. SHRC – rl;lg;gbahd kdpj chpikfs; Mizak; 
3. NCW – Njrpag; ngz;fs; kd;wk; 
4. RTI – jfty; mwpAk; chpikr; rl;lk; 
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a. 1 kw;Wk; 2 rhpahdit   b. 1 kw;Wk; 4 rhpahdit 
c. 2 kw;Wk; 3 rhpahdit   d. 2 kw;Wk; 4 rhpahdit 
e. tpil njhpatpy;iy 
 

96. Which Article of the Constitution provides for an Election Commission of India? 
a. Article 280   b. Article 315   c. Article 324 

d. Article 365   e. Answer not known 
,e;jpa Njh;jy; Mizak; mikf;f toptif nra;Ak; murpayikg;G gphpT vJ? 
a. gphpT 280   b. gphpT 315   c. gphpT 324 
d. gphpT 365   e. tpil njhpatpy;iy 
 

97. Which district is the top exporter of finished leather goods in the country? 
a. Salem   b. Vellore   c. Dindigul 
d. Madurai   e. Answer not known 
,e;jpahtpy; Njhy; nghUl;fis mjpfstpy; jahhpj;J Vw;Wkjp nra;Ak; khtl;lk; vJ? 
a. Nryk;   b. NtY}h;   c. jpz;Lf;fy; 
d. kJiu   e. tpil njhpatpy;iy 
 

98. Tamil Nadu Health System Reform programme is implemented with the funding 
support of  
a. World Bank    b. World Health Organization 
c. UNESCO     d. National Health Mission 
e. Answer not known 
jkpo;ehL Rfhjhur; rPuikg;G jpl;lj;jpw;F epjp cjtp vjd; %yk; fpilf;fpd;wJ? 
a. cyf tq;fp    b. cyf Rfhjhu epWtdk; 
c. And];Nfh     d. Njrpa Rfhjhu kp~d; 
e. tpil njhpatpy;iy 
 

99. Literacy Rate in Tamil Nadu 
a. 79.9% b. 80.9% c. 81.9% d. 82.9% e. Answer not known 
jkpo;ehl;by; fy;tpawpT tpfpjk; 
a. 79.9% b. 80.9% c. 81.9% d. 82.9% e. tpil njhpatpy;iy 
 

100. _____ Scheme was designed to bridge the learning gaps that developed as a result of 
the pandemic imposed lock down. 
a. Smart Classroom Scheme   b. Computer Labs Scheme 
c. Illam Thedi Kalvi Scheme   d. Illam Thedi Maruthuvam Scheme 
e. Answer not known 
ngUe;njhw;W Nehapdhy; Klf;fg;gl;l fhuzj;jhy; cUthd fw;wy; Fiwghl;il rhp 
nra;tjw;F cUthf;fg;gl;l jpl;lNk ______ MFk;. 
a. Nkk;gLj;jg;gl;l njhopy;El;g tFg;giw jpl;lk; 
b. fzpdp Ma;tfj; jpl;lk; 
c. ,y;yk; Njbf; fy;tp jpl;lk; 
d. ,y;yk; Njb kUj;Jtk; jpl;lk; 
e. tpil njhpatpy;iy 
 


